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SIMILARITY
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Solve for x.  The triangles in each pair are similar.
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Some information about the surface area and volume of two similar solids has been given.  Find
the missing value.

21)  Solid #1
SA = 81 m²
V = 17496 m³

         Solid #2
SA = 100 m²
V = ?

22)  Solid #1
SA = 16 m²
V = 176 m³

         Solid #2
SA = 36 m²
V = ?
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23)  Solid #1
SA = 60 km²
V = 40 km³

         Solid #2
SA = 15 km²
V = ?

24)  Solid #1
SA = 700 yd²
V = 20000 yd³

         Solid #2
SA = 7 yd²
V = ?

25)  Solid #1
SA = 729 in²
V = 8748 in³

         Solid #2
SA = 900 in²
V = ?

26)  Solid #1
SA = 1296 cm²
V = 5103 cm³

         Solid #2
SA = 1600 cm²
V = ?

27)  Solid #1
SA = 25 mi²
V = 2375 mi³

         Solid #2
SA = 49 mi²
V = ?

28)  Solid #1
SA = 48 cm²
V = 216 cm³

         Solid #2
SA = 432 cm²
V = ?

29)  Solid #1
SA = 11 yd²
V = 29 yd³

         Solid #2
SA = 1100 yd²
V = ?

30)  Solid #1
SA = 324 in²
V = 1296 in³

         Solid #2
SA = 900 in²
V = ?

31)  Solid #1
SA = 343 km²
V = 5488 km³

         Solid #2
SA = 112 km²
V = ?

32)  Solid #1
SA = 19 m²
V = 23 m³

         Solid #2
SA = 171 m²
V = ?

33)  Solid #1
SA = 63 ft²
V = 513 ft³

         Solid #2
SA = 28 ft²
V = ?

34)  Solid #1
SA = 144 ft²
V = 729 ft³

         Solid #2
SA = 256 ft²
V = ?

35)  Solid #1
SA = 320 ft²
V = 3072 ft³

         Solid #2
SA = 500 ft²
V = ?

36)  Solid #1
SA = 54 cm²
V = 486 cm³

         Solid #2
SA = ?
V = 18000 cm³

37)  Solid #1
SA = 1053 cm²
V = 15309 cm³

         Solid #2
SA = ?
V = 21000 cm³

38)  Solid #1
SA = 832 mi²
V = 10240 mi³

         Solid #2
SA = ?
V = 20 mi³

39)  Solid #1
SA = 81 ft²
V = 351 ft³

         Solid #2
SA = ?
V = 9477 ft³

40)  Solid #1
SA = 81 ft²
V = 9477 ft³

         Solid #2
SA = ?
V = 104 ft³

41)  Solid #1
SA = 324 m²
V = 5832 m³

         Solid #2
SA = ?
V = 2744 m³

42)  Solid #1
SA = 54 ft²
V = 594 ft³

         Solid #2
SA = ?
V = 2750 ft³

43)  Solid #1
SA = 9 cm²
V = 648 cm³

         Solid #2
SA = ?
V = 5184 cm³

44)  Solid #1
SA = 200 mi²
V = 16000 mi³

         Solid #2
SA = ?
V = 2000 mi³

45)  Solid #1
SA = 300 yd²
V = 30000 yd³

         Solid #2
SA = ?
V = 810 yd³

46)  Solid #1
SA = 50 yd²
V = 1000 yd³

         Solid #2
SA = ?
V = 8000 yd³

47)  Solid #1
SA = 1215 m²
V = 17496 m³

         Solid #2
SA = ?
V = 648 m³

48)  Solid #1
SA = 684 mi²
V = 1728 mi³

         Solid #2
SA = ?
V = 8 mi³

49)  Solid #1
SA = 576 km²
V = 11264 km³

         Solid #2
SA = ?
V = 4752 km³

50)  Solid #1
SA = 1700 yd²
V = 19000 yd³

         Solid #2
SA = ?
V = 6517 yd³
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Answers to SIMILARITY

1)  6 2)  7 3)  12 4)  3
5)  5 6)  14 7)  4 8)  14
9)  11 10)  8 11)  6 12)  8
13)  7 14)  4 15)  6 16)  8
17)  4 18)  14 19)  4 20)  4
21)  V = 24000 m³ 22)  V = 594 m³ 23)  V = 5 km³ 24)  V = 20 yd³
25)  V = 12000 in³ 26)  V = 7000 cm³ 27)  V = 6517 mi³ 28)  V = 5832 cm³
29)  V = 29000 yd³ 30)  V = 6000 in³ 31)  V = 1024 km³ 32)  V = 621 m³
33)  V = 152 ft³ 34)  V = 1728 ft³ 35)  V = 6000 ft³ 36)  SA = 600 cm²
37)  SA = 1300 cm² 38)  SA = 13 mi² 39)  SA = 729 ft² 40)  SA = 4 ft²
41)  SA = 196 m² 42)  SA = 150 ft² 43)  SA = 36 cm² 44)  SA = 50 mi²
45)  SA = 27 yd² 46)  SA = 200 yd² 47)  SA = 135 m² 48)  SA = 19 mi²
49)  SA = 324 km² 50)  SA = 833 yd²


